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2014 Paper 1 Question 4, (2)  

2𝑢 − 𝑣 = 2(
−2
   3
   5

) − (
    0
−4
   7

) 

               = (−4
   6
 10

) − (    0
−4
    7

) 

               = (−4
  10
   3

) 

 

2014 Paper 2 Question 2, (2)  

𝐵 = (8, 4, 10) 

𝐶 = (4, 0, 10) 

 

2015 Paper 2 Question 4, (2)  

|𝑢| = √62 + (−13)2 + 182 

       = √529 

       = 23 

 

2015 Paper 2 Question 5, (2)  

𝑝 = (
−5

3
) , 𝑞 = (

4

−5
) 

𝑝 + 𝑞 = (
−5

3
) + (

4

−5
) = (

−1

−2
) 

 

2016 Paper 1 Question 1, (2)  

1

2
𝑝 + 𝑞 =

1

2
(
   4

−6
) + (

−5

−1
) 

               = (   2
−3

) + (−5
−1

) 

               = (−3
−4

) 



 

2016 Paper 2 Question 3, (1)  

𝐵𝐷⃗⃗⃗⃗⃗⃗ = 𝑣 − 𝑢 

 

2017 Paper 2 Question 8, (1) (2)  

a) 𝑃𝑅⃗⃗⃗⃗  ⃗ = −𝑑 − 𝑐 

 

b) 𝑇𝑉⃗⃗⃗⃗  ⃗ = 𝑇𝑃⃗⃗⃗⃗  ⃗ +
1

2
𝑃𝑅⃗⃗⃗⃗  ⃗ 

            = −𝑑 +
1

2
(−𝑑 − 𝑐) 

            = −
3

2
𝑑 −

1

2
𝑐 

 

2018 Paper 1 Question 13, (2)   

𝐵 = (4, 8, 5) 

𝐶 = (6, 8, 0) 

 

2018 Paper 2 Question 3, (2)  

|𝑟| = √242 + (−12)2 + 82 

      = √784 

      = 28 

 

2018 Paper 2 Question 10, (2)  

𝐵𝐶⃗⃗⃗⃗  ⃗ = 𝐵𝐴⃗⃗⃗⃗  ⃗ + 𝐴𝐸⃗⃗⃗⃗  ⃗ + 𝐸𝐷⃗⃗ ⃗⃗  ⃗ + 𝐷𝐶⃗⃗⃗⃗  ⃗  

       = −𝑢 − 𝑤 + 2𝑢 +
1

2
𝑤 

       = 𝑢 −
1

2
𝑤 

 

2019 Paper 1 Question 10, (1) (2)  

a) 𝑃𝑄⃗⃗ ⃗⃗  ⃗ = 𝑃𝑅⃗⃗⃗⃗  ⃗ + 𝑅𝑄⃗⃗ ⃗⃗  ⃗ 

            = (
   6
−4

) + (
−1
   8

) 

            = (
5
4
) 

 

 



 

b) 𝑀𝑄⃗⃗⃗⃗ ⃗⃗  = 𝑀𝑃⃗⃗⃗⃗ ⃗⃗ + 𝑃𝑄⃗⃗ ⃗⃗  ⃗ 

              =
1

2
𝑅𝑃⃗⃗⃗⃗  ⃗ + 𝑃𝑄⃗⃗ ⃗⃗  ⃗ 

              = −
1

2
𝑃𝑅⃗⃗⃗⃗  ⃗ + 𝑃𝑄⃗⃗ ⃗⃗  ⃗ 

              = −
1

2
(
   6
−4

) + (
5
4
) 

 = (
−3
   2

) + (
5
4
) 

  = (
2
6
) 

 

2019 Paper 2 Question 2, (2)  

|𝑝| = √62 + 272 + (−18)2 

       = √1089 

       = 33 

 

 

 

  

 

 


